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Explanation

1. c) Since

X∂n-cn-°p∂Xv present perfect continuous
tense se sentence BWv. Point of time s\
ImWn-°m≥ since D]-tbm-Kn-°p-∂p.

2. b) to my sister

3. c) brim

the edge of the glass is called brim

4. b) You work hard

Unless - Simple present  ® Simple Future
(will/shall/can/may+V1)

5. a) so that

6. c) he would win the match

If clause + V2 ® would / should/ could/
might +V1

7. a) Though

F∂n´pw F∂ Bi-b-Øn-emWv CXv D]-
tbm-Kn-°p-∂-Xv.

Though sentence s‚ BZyw D]-tbm-Kn-°p-∂p.

8. d) won’t you

Sentence se auxiliary will BWv. AXp-
sIm≠v tag epw will hcp-∂p. Sentence
positive Bb-Xn-\m¬ tag negative Bbn-
cn-°pw.

9. a) Destroy completely

10. b) withhold

11. c) Mediocre

12. d) A disreputable member of a family or a
group

13. b) The sword

14. c) bring down

15. a) brought about

brought about - to bring change
            (sIm≠ph∂p)

16. c) I went to Delhi yesterday

Yesterday h∂m¬ AXn-t\m-sSm∏w simple
past tense D]-tbm-Kn-°Ww

17. a) contagious

18. b) Caesar was stabbed by Brutus

Simple past tense passive ¬ amdp-tºmƒ
Object + was/were + V3+by+subject

19. c) Erect

Erect - build

20. d) having

am t\msSm∏w verb s‚ ing form D]-
tbm-Kn-°Ww (Present continuous)
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1. Ans: 18

        = (Ö8+Ö2)2 = (Ö8)2 + 2 ´ Ö8 ´Ö2+(Ö2)2

         = 8+2 ´Ö16+2

         = 8+2 ´4+2

         = 18

2. Ans: 2

          a2 -b2   
= a+b                 a-b

                      = 1.75 + 0.25

                      = 2

3. Ans: 488

                  x + 1 = 8
                             x

                    x3 + 1   = 83 -3  ´ 8
                          x3

                           =  512 -24

                           = 488

4. Ans: 83

                  a - 1 = 9
                            a

                a2 + 1 = 92  + 2

                            a2

                               =  83

5. Ans: 2400

 a2 -b2  = (a+b) (a-b)

           = (203 + 197) (203 -197)

           = 400  ´ 6

           = 2400

6. Ans: 100

a2 + 2ab + b2   = (a+b)2

                       = (7.85 + 2.15)2

                       = 102

                       = 100

7. Ans: 30

a3 -b3      
= a-b

          a2+ab+b2

               =  153 -123

              = 30

8. Ans: 189000

        (a+b)2 - (a-b)2 = 4ab

                 = 4 ´ 250  ´ 189

                 = 1000  ´ 189

                 = 189000

9. Ans: P2 +Q2

       (P + Q)2  + (P - Q)2      = 2(P2 + Q2)

        (P + Q)2 + (P - Q)2     = P2 + Q2

                           2

10. Ans: 3

a - b =
  a2 - b2   

= 
 24

                                  a+b         8

                            = 3

11. Ans : 7

                a4 + 1  =   a2 + 1   2    -2

                      a4             a2

                    = 32 - 2

                   = 9  -2

                   = 7

12. Ans : 3

             (2x+3y)2 = 4x2 + 12xy + 9y2

             \ ]Z-ß-fpsS FÆw = 3

13. Ans : -12

             (2a -3b)2 =4a2 -12 ab + 9b2

        ab bpsS KptWm-Øcw = ˛12

14. Ans : 2/3

            a+b  = 20

             ab   = 30

          1 
+

 1 
= ?

          a     b

     = a+b

                              ab

     
= 

20     
 =

  2

         30         3

15. Ans : 2323232323

                       Ö2652-˛2642

              = Ö(265 + 264) (265˛264)

              = Ö529 ´ 1

              = Ö529

              = 23

( (
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1. a) ˛1620 ˛1620 ˛1620 ˛1620 ˛1620

(˛15)3 + (12)3 + (3)3

= -̨ -3375 + 1728 + 27

= --- ˛1620

2. a) 311612125 311612125 311612125 311612125 311612125

A   B  I    L   I   T    Y

1    2   9  12  9  20  25

C   A   P   A  B   L   E

3    1  16   1   2  12   5

3. c) 100 100 100 100 100

       200\v tijw injvSw
       1 hcp∂ 3 s‚ KpWnXw = 202

     500 \v ap≥]v injvSw
      1 hcp∂ 3 s‚ KpWnXw = 499

              \ t
n 
- t

1
  + 1

                           d

               = 499 - 202  +1        =100

                         3

4. d) 50

Hm]vj-\n¬ \n∂v DØcw Is≠Ømw

hmßn-b-hne 50 F∂v FSp-Øm¬, 50
cq]-bpsS km[\w 75 cq]bv°v hn‰m¬ em -̀i-
X-am\w 50 Xs∂ In´pw.

CP - 50

SP - 75

  \ em -̀i-X-am\w = 25 ´ 100 = 50

             50

18. Ans : -1/x

                            x-1 -1

                       x -1

= (x-1 -1) ¸ (x-1)

=   1 - 1   ¸ (x-1)
                          x

= (1 - x) ¸ (x-1)

                            x

= 
-(x-1) ´   1

                           x       (x-1)

=  -1

     x

19. Ans : 900

(125 + 95)2 - 4´125 ´ 95

               = (a+b)2 - 4ab  = (a-b)2

               = (125 -95)2

                     = 302

                     = 900

20. Ans :  x+1

                  x

   x -1

                            x

                          x-1

         = (x2 -1)  ¸  (x-1)

                      x

               =  (x+1) (x-1)  ´  1

                           x            ( x-1)

         =   (x+1)

                 x

( (

16. Ans : 5

a3 + b3         
= a+b

                  a2 - ab + b2

                                
 =

 75    
= 5

                                          15

 17.  Ans : 3

                       a3 -b3         
= a - b

                  a2 + ab +b2

                                  =   63     = 3

                                             21



11. d) 10 km sX°v

          Ö62 + 82 = Ö36 + 64

                     = 10 km sX°v

12. d)1100

60 -H ˛11 M

        
2

60 ´ 0 ˛11 ´ 20  =  ˛220   = 1100

                        2             2

13. c) 46% 46% 46% 46% 46%

     BsI Ip´n-Iƒ = 300 + 700 = 1000

  hnP-bn® Ip´n-Iƒ = 300 ´ 40 + 700 ´ 60
                                    100          100

              = 120 + 420 = 540

  ]cm-P-b-s∏´ Ip´n-Iƒ = 1000 -̨  540 = 460

    1000 ´ x = 460
                        100

                          x = 46%

14. a) sh≈n

 2004 apX¬ 2010 hsc-bp≈ h¿j-ßƒ = 6

              A[n-h¿j-ßƒ    = 2
              8

BsI H‰ Znh-k-ßƒ       = 1

        hymgw + 1   = sh≈n

15. d) 10%

 4000  ´ 100 = 10%
40000

16. d) JQDKB

               LOGIC ®      C    I     G   O    L

                                    -1   -1   -1   -1   -1

                    B    H    F   N    K

        CLERK ®        K    R    E    L    C

                                    -1   -1   -1   -1   -1

                    J     Q    D   K    B

8km

6km

5. b) 84

1 ´ x  = 1 x - 20

3           2

        1´ x -1 x = 20

        2       3

          3x -2x  = 20       \   x   = 20

6                          6

    x  = 120

     120 ´ 70  = 84

                    100

6. a) 13 13 13 13 13

         9- ˛ 5 ¸ (8-- ˛ 3) ´ 2 + 6

         9 ˛ 5 ¸ 5 ´ 2 + 6

         9 ˛1 ´ 2 + 6 = 9 ˛ 2 + 6

              = 13

7. b) 1

            x = ya,   y = zb,   z = xc

         z = xc =  (ya)c  = yac

         y = zb = (yac)b = yabc

               y1 = yabc

         \ abc = 1

8. a) 8:1

                x ´ 1 + y = 3y
                 4

                            x = 2y
                    4

                           x = 8 y

                           x -= 8    x : y = 8:1
                           y    1

9. c) 16

    +6      +6     +6

1,   4,   7,   8,  13,  12,  19,   16

        +4       +4     +4

10. b) 64 Ö3

4´ka-N-Xp-c-Øns‚ hiw = 3 ´ {XntIm-W-Øns‚ hiw

        4 ´ 12Ö2  = 3a

                         Ö2

                                a = 4 ´12 = 16

                                         3

 {XntIm-W-Øns‚ ]c-∏-fhv = Ö3 ´162 = Ö3 ´16´16
                                       4           4

                   = 64 Ö3



17. a) 144144144144144

              A + B  = 18

             B + C   = 24

             A + C  = 36

    2 (A + B + C)  = 1 + 1 + 1
         18  24  36

                    = 12  + 9  + 6  = 27  =
 1

                      216   216  216   216   8

     A + B + C =    1      =  1
                       8 ´ 2      16

     A + B + C = 16 Znhkw

(A + B + C) - (A + B) = 1  -˛ 1  =   2    =  1
                  16   18   16´18    144

  C  = 144 Znhkw

18. b) 105105105105105

          105 `mPy-kwJy

19. d) 18 18 18 18 18 km/hr

icm-icn thKX =    3abc

                      ab+bc+ac

                      
 = 

3 ´ 10 ´ 20 ´ 60
                          200 + 600 + 1200

         = 3 ´ 10 ´ 20 ´ 60
                              2000

                       = 18 km/hr

20. a) 4444444444

      (15+30) -̨ 1 = 45˛1 = 44

-

a[pcw aebmfw ˛ 1

Self Test

1. c) A[-c-]pSw

2. a) tIƒ + Xp

3. b) ]n]-Tnjp

4. c) tIm]m-Ip-e\pw ]Iz-X-bn-√m-Ø-h-\p-ambn

ImW-s∏´ Abm-fn¬ h∂ am‰w {it≤-

                              b-am-bn-cp-∂p.

5. d) ]TnØw Ah-km-\n-∏n-°pI

6.  b) {]`zn

7. d) Ip¶paw

8. a) A\m-imkyw

9. b) s]mev°pSw

10. d) aq∂mdpw tImh-fhpw Sqdn-Ãp-Isf

 BI¿jn-°p-∂p.


